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19 17 4.5 6 1.5 2.2%
30 2 3 2 1.0 .00
18 23 4.5 ! 3.5 12.25
18 13 6.5 9 2.3 6.25
15 i1 10 11 1.0 1.00
21 L4 2 5 3.0 Q.00
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Example 2 :
Compute the cormclation coefficient given :

TX=1" TY=100 IXY=86.2 IX*=60 TY =428
Cmﬁn:mnt of comelation
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aTFCE TXY=86.2, TX=12, ITY=100,
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J3562 700 4940200 974.27
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prample 3 ¢ ;
Find out the Correlation Co-efficient form the data given below.
aterpret your Bnding.

e wdvals | a[Blc]p[e[rFrla[n] 1]
Tenares x| 13) 12] 10} 10 st el ateslale
t v 11l 14l 1] 7 a|l11]l 8] 7|61 1
Ams : _
pdividuals  Scores  Seores Ry Ry D=Rx-Ry D?
X Y
A 13 11 ] 3 +2 4.0
B 12 14 2 1 +1 1.0
C 10 11 35 3 +0.5 0.25
D e 345 15 +4.0 16.00
E 8 9 5 5 0 0.0
F 6 11 65 3 +3.5 12.25
G & & 65 6 +0.5 0.25
I H 5 7 g 7.5 +0.5 0.25
I 3 & G 0 0.0 (.00
i 2 ] 10 10 0.0 (.00
I TDI = 34.00
CITA N = 10
p —= I_EI—E'I-?....-.-
N(Nz ~1)
Cp= o 0x3 208 oy _ 0206 =0:794
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Ans :
X-Score |Y-Score | X(ELA 5 (R") |YeEm=m o= (R,) D=H1:HI-E?“
X 4] 6 & 5 ____[T
3 3 5 5 0 :
4 4 4 3.5 0.5 i
5 4 3 3.5 0.5 025
7 11 1 I 0 :
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S e B
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= 1=
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Interpretation :

25 AR T Wy Aol vER W 0.986 e A T
TS WS oAz @ wres | wdie gefia W AREEE weAn W

TR A @ Twesten sy e 2
Example 5 .

Compute the value of
IWa senes of SCoTes
Science and Mathem

: e
co-efficicnt of co-relation between the follo¥! l

obtained by a group of 10 students in PAYS®
atics.

f;;fn 3“ 85 |73 8065 70T 0T 67 [ 85| 7°
218 [ 9085 (o6 [ G0l BT 75 ?2

Ans. (; it
(a) Rank difference Method (co-efficient correlation)
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X Rx Y Ry D:Rx-—-RI}r 0
40 6.5 18 4 2.3 6.2
3{} 9_5 25 2 ?.5 55-_}5
35 B 23‘ . 3 5.0 1':.1
. ErOrve
6 x 32360

ST GRS
" PN ) 1012 -1)

— [..._IEM = ] ]
590 = |- 1.86 = ~-0.86
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Example T :
s I

i:::lll the r.:mk currelﬂtifm co-efficient between the scores of studch
ematics and physics from the following data. Interpret the resii |
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m

e 6 53 65 30 27 49 70 83 917 ©

e 4 55 40 25 49 69 75 794 ¥
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= 40 8 1.5 o5 %

¢ 35 . ' e :

5 f’ i 6.5 : o3 “
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rgmple & 3
zd put the Corrclation co-efficient from the data given below, usmng
vk difference method and comment on the results ;

[ ndviduals 2l Bl cl o] ] £F] gl H| 1] J
A sows in Py, 1 15| 30| 20| 15| 25| 10l 35| 12} 10| 19
(Scores in Math. | 25 26| 35] 25| 30 35 a0| 20| 28 25

is: Rp = Rank in Physical Science
-. Ry = Rank in Mathametics "
“[rirduals Scores in PSc  Scores In Math Rp  Ra D=Rg~Rm ~

6 15 15 2.25
A U B = b
L - . JN— - 2 15
4 o . 1.5 2.25
= s 295
6 15 1.5
D 15 25.. . o
E 25 10.. 3 4 1.0 i
FEo1o ¥ o35 95 25 10 s
G 3 40.... e i o
H g 10 20 :
2 20:. 45 2025
I 95 5 :
10 2%.. w13 “o
} 15 5. ﬁ_ﬂ
v D2=113.50
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 Example : 9
Given r = 0.8, EAy =

ﬁnf‘ = 0.8, gy = 2.5, Lxy = 6{} Txs = 490
£ 1 oper |
o=y L¥ N
LX _ 60
r= _I*?:I_[EI-__M 0.8 No ﬂ.."
3600

P N"Mzﬂ i N 35y
ﬂ.’( U}' Nﬁxﬁ*}{[_“]
1600

or 064 = 90~ 6.25

=9EI L?im 6.5 E%{lz 10 - jtem €T AW = 10
X UDS oD,

Example : 10

Calcutale the coeflicient of correletion from the following data by
Moement Method.
X 12 0 8 13 1 11 13 ﬂ
Y |14 ] 8 5 ¢ | il B L3
X x2 . R y2
12 144 14 196
! 81 8 - 64
4 64 6 - 36
1o - 100 9 81
H 121 11 121
3 169 12 144

2X=T0 X2 = 72§ Y = 63 }:]"2 = .ﬁﬁl

Ry

60, oy = 2.5, Ex? = 90 find the NUmber of iz,

Pres

XY
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71
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|21
36
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s = ofF A 9T AM. = 30
A =]
i 3
., o Y
c = 0-2, C, 10

= Jl"'l”:t‘ _'{}4

= 3-79
_ |65 -

= 4/6-5-.09

L

= 2-53
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